AtttE] & ABCD A4 AM = MB, DN =
oozt

i

(1) 11cm

v VvV v Vv
0
it

0
U

= . (2) 12 cm

8

S,
N
R
>
@)
i
]
2
2
i)
1o
=

o
o
s

A
_O|L
g,

=
=
[
o)
Q
[
J
Q
B

EN

1
§AD =4cm
© x=T74+4=11(cm)
@) ME = ;BC=8emol22

EN =14-8=6(cm)
. x=2EN = 12(cm)

o




2.

kg T4 x ] ZHE?

/ACB = /ADE = 90° 0|22
AABC O AAED (AA H)
AC:AD =BC:ED
(5+x):4=6:3
3(5+x)=24

5+x=28 SLox=3

A
dem /[,
D' 5‘cm
\ /I
3cm E
rem
/
“~6em- " C
1 3 5
® 3 @ 3 ® 3 @3 ® 4
AABC ¢} AAED 94 /A & 35,




3. AABC o4 /A 9] o] 5=2A1% ¥ BC o w2 D @ & ul, AABD
9] Yo7} 24cm? o|H, AADC 9] Ho]Z {slolzt},

>
> HeHl 36cm?

B

AB :AC = BD :DC °o|B&2

BD :DC=8:12=2:3

w2bA AABD ¢ aAADC 9] Wol9] Hli=2: 3 o]t}
AADC O] Ho]E x2t5lH 2:3=24: x| 22

x = 36(cm?) o]t}

w2t AADC 9] HolE= 36 cm? o]t




St o] ZAoj7t 7 91 HAPHA A - BCD 9] ZF mAjee] FHE AZ

)4 THE gPQRS 9] Ed]9] Zol= Aupolx] Lafolat,

B

1 1 7
PQ_SR_EAB_§x7_§7
11— 1 7
=PS=-CD=-x7=-90]|B&

QR =PS 20D 2><7 2]
oPQRS<] =89 Zol)
=PQ+SR+ QR +PS
—z+z+z+z—m

T2 2 2

§=
)
o)
O ro
g
O
=
wn
1o
it
)
1o
HIN)
o
rr

=

NG

s

=




08 1@ L UFER ABCD 7t 3A7Hgol 57] 918 212
L 2H?

- do
=

B

\([/

® ¢ABO = /CBO ® BO =DO

G)AC = BD @)0AD = 10DA

® AB=CD

23 ) Z}o] 90° 2 B Zolo}
g,




6. the 2elA A GE aABCY] FAFHY ), ab S Fotolet.

A

it

\VARR 4
0x
it

96

B

BD =DCO|E& g =38
2:1=5b:6

b=12

webA ab = 8 x 12 = 96 ]t}




7. = 2R”CIA x 9 ghE FstofEh A

B8H ~-z---""

i
o
B

\VARR 4
0
iy

9cm

B )
AABC 0 AHBA(AAR-S)

AB :HB = BC :BA

6:3=3+x):6

36=9+3x,x=9




